(L i BUELL XB12X
Salo Kicing FRONT + REAR AXLE SLIDERS

part# B-XB12AS-F / B-XB12AS-R

FRONT (8-xB12As-F)

SLIDER PUCK SLIDER PUCK
[SDR-M-6] [SDR-M-6]

—

FLANGE LOCK NUT M6 PLA";II NUT M6 FLANGE LOCK NUT M6
[FLNT-6] (pre-tightened) [NUT-6] [FLNT-6]
REAR (8-xB12As-R)
SLIDER PUCK SLIDER PUCK
[SDR-M-6-18] [SDR-M-6]

BOLT 290mm
I T T T T VIV VU VUV AVEVACVVUTWARRVITNT Y § R

- BOLT 415mm
L T T T T T O T T IO T TN @ R

PLAIN NUT M6

FLANGE LOCK NUT M6 [NUT-6] FLANGE LOCK NUT M6
[FLNT-6] (pre-tightened) [FLNT-6]

satoracing.com



